Sheet 1/2
Plan No
E000212/J

Detail B

ECLIPS X4/KIDS SIDE FRAME 2005 / B82

Confirmed
18/12/2024

AS

Verified

PM

Drafted

24/03/2005 | 18/12/2024

SD

Init.




Material / Materiaal

No. / Nr. Plan / Plan Article / Artikel Number / Aantal [No. / Nr. Plan / Plan Article / Artikel | Number / Aantal
1 Y005296 15503.. 1 29 M6x35 1006057 1
Y005322 15403.. 1 30 X002437 1992699 1
2 Y005293 15502.. 1 31 X003852 1670082 1
3 Y005047 (L) 15332.. 1 32 X000404 G000789 2
Y005048 (R) 15333.. 1 33 M6x45 DIN912/8.8 1003109 2
4 Y005989 (L) 15635.. 1 34 HV8x30 1005860 1
Y005990 (R) 15636.. 1 35 X000850 1244904 1
5 Y005553 1551154 1 36 ®19 1001602 1
6 1914611 1 37 X000861 1245004 1
7 X002636 1994438 1 38 M6 DIN985 1001680 1
8 X002670 1547400 1 39 1992600 1
9 X003384 1997149 1 40 M12 DIN125 1001561 1
10 1992559 2 41 M12x1.25 1994605 1
11 X003303 (L) 1596382 1 42 X002568 15339.. 1
X003302 (R) 1596282 1 43 M6x40 ISO7380 1006111 2
12 X002205 1489300 2 44 X000984 1004539 5
13 Y006648 1595182 1 45 M6 DIN7349 1003321 5
14 X002749 1553400 1 46 M6x20 1ISO7380 1006999 3
15 M12 DIN985 1001684 2 47 M16 type S DIN17222 1911653 1
16 M6x40 DIN7984 1006850 3 49 M8 1998994 1
17 @32 1001610 1 50 M8x76 DIN7984 1998993 1
18 X002135 1992405 1 51 X003480 1996670 1
19 M6 DIN125 1001564 12 52 M8 DIN127A 1001570 2
20 Y006196 1595004 1 53 M6x35 DIN912/8.8 1001496 4
21 X003481 1996587 2 54 M6x25 DIN912 1001494 2
22 M6 1008492 12 56 1003299 2
23 X001674 1990601 2 58 XP00412 2990456 2
24 ®4Ax14 1001584 2 59 XC00037 3990106 1
25 YP05377 27085... 1 60 1905244 1
26 YP02363 (L) 18986 1 - - - - Sheet 2/2
YP02362 (R) 18987 1
27 X003698 1004550 1 ECLIPS X4/KIDS SIDE FRAME Plan No.
28 »5x18 1001589 1 / 2005/ B82 000212/
Scale: 6:25 Drafted Verified Confirmed \\\V/’/
bae | 24/03/2005 | 18/12/2024 | 18/12/2024
Init. SD PM AS Q09




